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Slope Notes Day 2

Remember: A line has a constant rate of change that we call

;0‘\ line will have a positive slope when it is always ___m;cﬁﬁ-”!%——-

A line will have a negative slope when it is always ___ALL&ﬁﬂS .
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Find and interpret each slope-
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_Slope -

remember change in y is the numerator, change in x is the denominator.
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Finding the Slope between two points:

You can get the \ by counting on the graph OR subtractin

Slope Formula: LA?. - \d-‘

Xp = Xy

Find the slope between

1. Between (1, 4) and (3, 9) \ 2. Between (-3, -4) and (7, 1)
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3. Between (-6, 2) and (-4, -10) 4. Between (-4, 6) and (1,6)
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When finding slope from a table, find the slope between every interval (its should be the same if the
table describes a linear function.)

M . . +3 e 4| ™
> X /ﬂ - A j ¢ SN A A
X 1 2 3 4 5 X 0 3 9 10
Yy 6 . |12 18 24 30 Y 27 21 9 7
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PRACTICE! 1 - 3 6 7

Find slope three different ways:

1. A 2. (-5,7)and (3, 4) 3.
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